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Gdentifying SqutionsD

Choose the correct solution that best describes each inequality.

Two-step: S3

4 4 N [ N\
1) -10+3x< 8 and > <-7 2) 4x—-23<5 o0or -16>9x+ 29
a) (_°°l _1 8] o (61 °°) b) (_ool 6) a) (_ool 7] M [_51 °°) b) (_ool _5]
C) (_°°/ _1 8] d) [_‘I 8/ 6) C) (_ool _5] o [7/ °°) d) (_°°/ 7]
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3) %+11<90r8x+4n>’)4 \(4\ 10> K8y —-—1>—-A
a) (=o0,2) N (12, ) b) [-1, o)
Q) (-12,-2) d) (—eo, =11 N (4, )
\ J
/ . . . \
5 9=2x-7and 6x<xlcollection of worksheets in all subjects!Br 3x-5>28
a) (<oo, 8] Not 3 member? b) (=o0, 71U (11, e0)
p
Q) (=00, 3] U [8, o) lease sign up to d) (e, ~7) U (11, 09)
N 93in complete Y,
dccess,
4 x+19 )
7) —38 <18 + 7x < 4x 1< :
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a) (-8,-6] b) (o0, =15) U (=14, )
Q) (o0, —8) N (-6, o) d) [-8,-6) J b (-14,15) d) (=e0, =15)
\ J
4 X+ 6 N [ N\
9) 4 >-1and 5x-17>8 10) 23 -8x< -1 or 17 = 6x + 29
a) [-10, ) b) (-0, =10] U [5, o) a) (o0, —2) U (3, o) b) (~o0, 2] U (3, )
) [-10,5] d) [5, ) C) (~o0,=2) U [3, o) d) (=0, ~2] U [3, o0)
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